

ON HÖLDER'S INEQUALITY FOR THREE SEQUENCES

ERN GUN KWON AND WOO IN YANG

ABSTRACT. Recent results of Wu and Tian on refined Hölder's inequality for two sequences are extended to the case of three sequences.

1. Statements of results

Classical Hölder's inequality for two positive sequences $a = \{a_i\}_{i=1}^n$ and $b = \{b_i\}_{i=1}^n$ states that

$$\sum_{i=1}^{n} a_i b_i \le \left(\sum_{i=1}^{n} (a_i)^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^{n} (b_i)^q\right)^{\frac{1}{q}},$$

where positive indexes p,q are related to be $\frac{1}{p} + \frac{1}{q} = 1$. There are a lot of extensions of this inequality. We focus on a result of Wu([3]) which extends this inequality by finding a quantity $g(a,b), 0 < g(a,b) \le$ 1, satisfying

$$\sum_{i=1}^{n} a_i b_i \le \left(\sum_{i=1}^{n} (a_i)^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^{n} (b_i)^q\right)^{\frac{1}{q}} \cdot g(a,b)$$

when p,q are positive with $\frac{1}{p} + \frac{1}{q} = 1$, and a result of Tian([2]) stating reversely

$$\sum_{i=1}^{n} a_i b_i \ge \left(\sum_{i=1}^{n} (a_i)^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^{n} (b_i)^q\right)^{\frac{1}{q}} \cdot g(a,b)$$

when one of p,q are negative with $\frac{1}{p} + \frac{1}{q} = 1$. We, in this note, extend results of Wu and Tian to the case of three sequences

Theorem 1.1. Let $a = \{a_i\}_{i=1}^n, b = \{b_i\}_{i=1}^n, c = \{c_i\}_{i=1}^n$ be positive sequences. Let $\{e_i\}_{i=1}^n$ satisfy $1 - e_j + e_k \ge 0$ for all $j, k, 1 \le j, k \le n$. Let $p \ge q > 0$ and

Received July 11, 2013; Accepted November 21, 2013.

 $^{2000\} Mathematics\ Subject\ Classification.\ 26 D15.$

Key words and phrases. Hölder's inequality.

This work was financially supported by Andong National University 2012.

r > 0 with $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 1$. Then

$$\sum_{i=1}^{n} a_i b_i c_i \le \left(\sum_{i=1}^{n} (a_i)^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^{n} (b_i)^q\right)^{\frac{1}{q}} \left(\sum_{i=1}^{n} (c_i)^r\right)^{\frac{1}{r}} \cdot g(a,b),$$

where

$$g(a,b) = \left\{1 - \left(\frac{\sum_{i=1}^{n} (b_i)^q e_i}{\sum_{i=1}^{n} (b_i)^q} - \frac{\sum_{i=1}^{n} (a_i)^p e_i}{\sum_{i=1}^{n} (a_i)^p}\right)^2\right\}^{\frac{1}{2p}}.$$

Theorem 1.2. Let $a = \{a_i\}_{i=1}^n, b = \{b_i\}_{i=1}^n, c = \{c_i\}_{i=1}^n$ be positive sequences. Let $\{e_i\}_{i=1}^n$ satisfy $1 - e_j + e_k \ge 0$ for all $j, k, 1 \le j, k \le n$. Let $p \le q < 0$ and r > 0 with $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 1$. Then

$$\sum_{i=1}^{n} a_i b_i c_i \ge \left(\sum_{i=1}^{n} (a_i)^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^{n} (b_i)^q\right)^{\frac{1}{q}} \left(\sum_{i=1}^{n} (c_i)^r\right)^{\frac{1}{r}} \cdot g(a,b),$$

where

$$g(a,b) = \left\{1 - \left(\frac{\sum_{i=1}^{n} (b_i)^q e_i}{\sum_{i=1}^{n} (b_i)^q} - \frac{\sum_{i=1}^{n} (a_i)^p e_i}{\sum_{i=1}^{n} (a_i)^p}\right)^2\right\}^{\frac{1}{2p}}.$$

We give the proofs by modifying methods used in [3] and [2]. Theorem 1.1 will be proven in Section 2. Theorem 1.2 will be proven in Section 4 after preparing a lemma in Section 3. We refer to [1] for general theory on inequalities.

2. Proof of Theorem 1.1

Note simply that

$$\left(\sum_{i=1}^{n} a_{i}b_{i}c_{i}\right)^{2} = \sum_{i=1}^{n} a_{i}b_{i}c_{i} \sum_{i=1}^{n} a_{i}b_{i}c_{i} = \sum_{i=1}^{n} \sum_{j=1}^{n} a_{i}b_{i}c_{i}a_{j}b_{j}c_{j}$$

$$= \sum_{i=1}^{n} \sum_{j=1}^{n} a_{i}b_{i}c_{i}a_{j}b_{j}c_{j} - \sum_{i=1}^{n} \sum_{j=1}^{n} a_{i}b_{i}c_{i}a_{j}b_{j}c_{j}e_{i} + \sum_{i=1}^{n} \sum_{j=1}^{n} a_{i}b_{i}c_{i}a_{j}b_{j}c_{j}e_{j}$$

$$= \sum_{i=1}^{n} \sum_{j=1}^{n} a_{i}b_{i}c_{i}a_{j}b_{j}c_{j} (1 - e_{i} + e_{j})$$

$$= \sum_{i=1}^{n} a_{i}b_{i}c_{i} \sum_{j=1}^{n} a_{j}b_{j}c_{j} (1 - e_{i} + e_{j}).$$

Applying Hölder's inequality, the last quantity is at most

$$\sum_{i=1}^{n} a_{i}b_{i}c_{i} \left\{ \sum_{j=1}^{n} (a_{j})^{p} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{j=1}^{n} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{q}} \left\{ \sum_{j=1}^{n} (c_{j})^{r} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{r}} \right\}^{\frac{1}{r}}$$

$$= \sum_{i=1}^{n} a_{i}b_{i}c_{i} \left\{ \sum_{j=1}^{n} (a_{j})^{p} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{j=1}^{n} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{q} - \frac{1}{p}}$$

$$\cdot \left\{ \sum_{j=1}^{n} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{j=1}^{n} (c_{j})^{r} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{r}}$$

$$= \sum_{i=1}^{n} \left\{ \sum_{j=1}^{n} (b_{i})^{q} (a_{j})^{p} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{j=1}^{n} (b_{i})^{q} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{r}}$$

$$\cdot \left\{ \sum_{j=1}^{n} (a_{i})^{p} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{j=1}^{n} (c_{i})^{r} (c_{j})^{r} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{r}}.$$

Applying Hölder's inequality one more time, the last quantity is at most

$$\left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (a_{j})^{p} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{q} - \frac{1}{p}} \\
\cdot \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (a_{i})^{p} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (c_{i})^{r} (c_{j})^{r} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{r}} \\
= \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (a_{j})^{p} - \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (a_{j})^{p} e_{i} + \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (a_{j})^{p} e_{j} \right\}^{\frac{1}{p}} \\
\cdot \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (b_{j})^{q} - \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (b_{j})^{q} e_{i} + \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (b_{j})^{q} e_{j} \right\}^{\frac{1}{q} - \frac{1}{p}} \\
\cdot \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (a_{i})^{p} (b_{j})^{q} - \sum_{i=1}^{n} \sum_{j=1}^{n} (a_{i})^{p} (b_{j})^{q} e_{i} + \sum_{i=1}^{n} \sum_{j=1}^{n} (a_{i})^{p} (b_{j})^{q} e_{j} \right\}^{\frac{1}{p}} \\
\cdot \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (c_{i})^{r} (c_{j})^{r} - \sum_{i=1}^{n} \sum_{j=1}^{n} (c_{i})^{r} (c_{j})^{r} e_{i} + \sum_{i=1}^{n} \sum_{j=1}^{n} (c_{i})^{r} (c_{j})^{r} e_{j} \right\}^{\frac{1}{r}}$$

$$= \left\{ \sum_{i=1}^{n} (b_i)^q \right\}^{2\left(\frac{1}{q} - \frac{1}{p}\right)} \left\{ \sum_{i=1}^{n} (c_i)^r \right\}^{\frac{2}{r}} \cdot \left[\left\{ \sum_{i=1}^{n} (a_i)^p \sum_{j=1}^{n} (b_j)^q \right\}^2 - \left\{ \sum_{i=1}^{n} (b_i)^q e_i \sum_{j=1}^{n} (a_j)^p - \sum_{i=1}^{n} (b_i)^q \sum_{j=1}^{n} (a_j)^p e_j \right\}^2 \right]^{\frac{1}{p}}.$$

Thus we obtain

$$\sum_{i=1}^{n} a_i b_i c_i \leq \left\{ \sum_{i=1}^{n} (b_i)^q \right\}^{\left(\frac{1}{q} - \frac{1}{p}\right)} \left\{ \sum_{i=1}^{n} (c_i)^r \right\}^{\frac{1}{r}} \cdot \left[\left\{ \sum_{i=1}^{n} (a_i)^p \sum_{j=1}^{n} (b_j)^q \right\}^2 - \left\{ \sum_{i=1}^{n} (b_i)^q e_i \sum_{j=1}^{n} (a_j)^p - \sum_{i=1}^{n} (b_i)^q \sum_{j=1}^{n} (a_j)^p e_j \right\}^2 \right]^{\frac{1}{2p}}.$$

Therefore

$$\sum_{i=1}^{n} a_i b_i c_i \\
\leq \left(\sum_{i=1}^{n} (a_i)^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^{n} (b_i)^q\right)^{\frac{1}{q}} \left(\sum_{i=1}^{n} (c_i)^r\right)^{\frac{1}{r}} \left\{1 - \left(\frac{\sum_{i=1}^{n} (b_i)^q e_i}{\sum_{i=1}^{n} (b_i)^q} - \frac{\sum_{i=1}^{n} (a_i)^p e_i}{\sum_{i=1}^{n} (a_i)^p}\right)^2\right\}^{\frac{1}{2p}}.$$

The proof is complete.

3. Lemmas

We need the following easy lemma in proving Theorem 1.2. We include its proof for the convenience of the reader.

Lemma 3.1. Let $a_i, b_i, c_i > 0$, $(i = 1, 2, \dots, n)$, $\lambda_j < 0$ (j = 1, 2) and $\lambda_1 + \lambda_2 + \lambda_3 = 1$. Then

$$\sum_{i=1}^{n} a_i^{\lambda_1} b_i^{\lambda_2} c_i^{\lambda_3} \ge \left(\sum_{i=1}^{n} a_i\right)^{\lambda_1} \left(\sum_{i=1}^{n} b_i\right)^{\lambda_2} \left(\sum_{i=1}^{n} c_i\right)^{\lambda_3}.$$
 (1)

Proof of Lemma 3.1. Since $\lambda_j < 0$ (j = 1, 2) and $\lambda_1 + \lambda_2 + \lambda_3 = 1$, we have

$$\frac{1}{\lambda_3} > 0, -\frac{\lambda_1}{\lambda_3} > 0, -\frac{\lambda_2}{\lambda_3} > 0 \quad \text{with} \quad \frac{1}{\lambda_3} + \left(-\frac{\lambda_1}{\lambda_3}\right) + \left(-\frac{\lambda_2}{\lambda_3}\right) = 1.$$

Factorizing c_i as

$$c_i = \left(a_i^{\frac{\lambda_1}{\lambda_3}}\right) \left(b_i^{\frac{\lambda_2}{\lambda_3}}\right) \left(c_i^{\frac{\lambda_3}{\lambda_3}}\right) \left(a_i^{-\frac{\lambda_1}{\lambda_3}}\right) \left(b_i^{-\frac{\lambda_2}{\lambda_3}}\right)$$

and then using Hölder's inequality, we have

$$\begin{split} &\sum_{i=1}^n c_i = \sum_{i=1}^n \left(a_i^{\frac{\lambda_1}{\lambda_3}}\right) \left(b_i^{\frac{\lambda_2}{\lambda_3}}\right) \left(c_i^{\frac{\lambda_3}{\lambda_3}}\right) \left(a_i^{-\frac{\lambda_1}{\lambda_3}}\right) \left(b_i^{-\frac{\lambda_2}{\lambda_3}}\right) \\ &\leq \left(\sum_{i=1}^n a_i^{\lambda_1} b_i^{\lambda_2} c_i^{\lambda_3}\right)^{\frac{1}{\lambda_3}} \left(\sum_{i=1}^n a_i\right)^{-\frac{\lambda_1}{\lambda_3}} \left(\sum_{i=1}^n b_i\right)^{-\frac{\lambda_2}{\lambda_3}}. \end{split}$$

Thus,

$$\sum_{i=1}^{n} a_i^{\lambda_1} b_i^{\lambda_2} c_i^{\lambda_3} \ge \left(\sum_{i=1}^{n} a_i\right)^{\lambda_1} \left(\sum_{i=1}^{n} b_i\right)^{\lambda_2} \left(\sum_{i=1}^{n} c_i\right)^{\lambda_3},$$

which completes the proof.

4. Proof of Theorem 1.2

Applying Lemma 3.1 twice, we have

$$\left(\sum_{i=1}^{n} a_{i}b_{i}c_{i}\right)^{2} = \sum_{i=1}^{n} a_{i}b_{i}c_{i} \sum_{j=1}^{n} a_{j}b_{j}c_{j} \left(1 - e_{i} + e_{j}\right)$$

$$\geq \sum_{i=1}^{n} a_{i}b_{i}c_{i} \left\{\sum_{j=1}^{n} \left(a_{j}\right)^{p} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{p}} \left\{\sum_{j=1}^{n} \left(b_{j}\right)^{q} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{q}} \left\{\sum_{j=1}^{n} \left(c_{j}\right)^{r} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{r}}$$

$$= \sum_{i=1}^{n} a_{i}b_{i}c_{i} \left\{\sum_{j=1}^{n} \left(a_{j}\right)^{p} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{p}} \left\{\sum_{j=1}^{n} \left(b_{j}\right)^{q} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{r}}$$

$$\cdot \left\{\sum_{j=1}^{n} \left(b_{j}\right)^{q} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{p}} \left\{\sum_{j=1}^{n} \left(c_{j}\right)^{r} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{r}}$$

$$= \sum_{i=1}^{n} \left\{\sum_{j=1}^{n} \left(b_{i}\right)^{q} \left(a_{j}\right)^{p} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{p}} \left\{\sum_{j=1}^{n} \left(b_{i}\right)^{q} \left(b_{j}\right)^{q} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{r}}$$

$$\cdot \left\{\sum_{j=1}^{n} \left(a_{i}\right)^{p} \left(b_{j}\right)^{q} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{p}} \left\{\sum_{j=1}^{n} \left(c_{i}\right)^{r} \left(c_{j}\right)^{r} \left(1 - e_{i} + e_{j}\right)\right\}^{\frac{1}{r}}$$

$$\geq \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (a_{j})^{p} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (b_{i})^{q} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{q} - \frac{1}{p}} \cdot \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (a_{i})^{p} (b_{j})^{q} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{p}} \left\{ \sum_{i=1}^{n} \sum_{j=1}^{n} (c_{i})^{r} (c_{j})^{r} (1 - e_{i} + e_{j}) \right\}^{\frac{1}{r}} = \left\{ \sum_{i=1}^{n} (b_{i})^{q} \right\}^{2 \left(\frac{1}{q} - \frac{1}{p}\right)} \left\{ \sum_{i=1}^{n} (c_{i})^{r} \right\}^{\frac{2}{r}} \cdot \left\{ \sum_{i=1}^{n} (a_{i})^{p} \sum_{j=1}^{n} (b_{j})^{q} \right\}^{2} - \left\{ \sum_{i=1}^{n} (b_{i})^{q} e_{i} \sum_{j=1}^{n} (a_{j})^{p} - \sum_{i=1}^{n} (b_{i})^{q} \sum_{j=1}^{n} (a_{j})^{p} e_{j} \right\}^{2} \right\}^{\frac{1}{p}}.$$

Thus we obtain

$$\sum_{i=1}^{n} a_i b_i c_i \ge \left\{ \sum_{i=1}^{n} (b_i)^q \right\}^{\left(\frac{1}{q} - \frac{1}{p}\right)} \left\{ \sum_{i=1}^{n} (c_i)^r \right\}^{\frac{1}{r}} \cdot \left[\left\{ \sum_{i=1}^{n} (a_i)^p \sum_{j=1}^{n} (b_j)^q \right\}^2 - \left\{ \sum_{i=1}^{n} (b_i)^q e_i \sum_{j=1}^{n} (a_j)^p - \sum_{i=1}^{n} (b_i)^q \sum_{j=1}^{n} (a_j)^p e_j \right\}^2 \right]^{\frac{1}{2p}}.$$

Therefore

$$\sum_{i=1}^{n} a_{i} b_{i} c_{i}$$

$$\geq \left(\sum_{i=1}^{n} (a_{i})^{p}\right)^{\frac{1}{p}} \left(\sum_{i=1}^{n} (b_{i})^{q}\right)^{\frac{1}{q}} \left(\sum_{i=1}^{n} (c_{i})^{r}\right)^{\frac{1}{r}} \left\{1 - \left(\frac{\sum_{i=1}^{n} (b_{i})^{q} e_{i}}{\sum_{i=1}^{n} (b_{i})^{q}} - \frac{\sum_{i=1}^{n} (a_{i})^{p} e_{i}}{\sum_{i=1}^{n} (a_{i})^{p}}\right)^{2}\right\}^{\frac{1}{2p}}.$$

The proof is complete.

References

- G. Hardy, J. E. Littlewood & G. Polya, *Inequalities*, Cambridge University Press, New York, 1991.
- [2] Jingfeng Tian, Reversed version of a generalized sharp Hölder's inequality and its applications, Information Sciences 201 (2012), 61–69.
- [3] Shanhe Wu, Generalization of a sharp Hölder's inequality and its applications, J. Math. Anal. Appl. 332 (2007), 741–750.

Ern Gun Kwon

Department of Mathematics Education, Andong National University, Andong 760-749 Korea

 $E ext{-}mail\ address: egkwon@andong.ac.kr}$

Woo In Yang

Department of Mathematics, Graduate School, Andong National University, Andong 760-749 Korea

 $E\text{-}mail\ address{:}\ \mathtt{yangwooin@hanmail.net}$